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a b ¢ d e
#3 (4+8)
1. 15 [1.0] (yrpo3a 2.!g8+ [1.0])
1..Tc4 2.1d7[1.0]
1...,c8 2.Jh5[1.0];
1...0b3(rc2,0f3,0c6,0f5)
2.Je6[1.0]
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B.UcapbsaHoB 1968 LllaxmaTtHasa MockBa
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(10 + 11)
1. f3[5.0]
C. PymsaHueB, BLLUK 1987
8
7
6
5
4
3
2
1

#3

. yg4 Je6 2. nf5 [2.5]

1. ..

Jd4 2. ne4 [2.5])

(11 +6)

a b ¢ d e f 9 h
#4 (8 +3)

1. ¢7[1.0] yd5 2. c8' ye6 3. I'g6 [1.0]yf6 4.

1c6X

1... yd3 2. c¢8I[0.5] yc4 3. I'd7 [1.0]yb3 4. ['f7X;

1... yb5 2. ¢8J ya5 (2... ya4 3. Jc5 (3. I'e2) [0.5]

)) 3. Jb7[0.5] ya4 4. Jb4X;

1... yb3 2. c8J ya4 3. I'e2 (3. Jc5) [0.5]

6
A.PeokTuctoB n ®.[laBnaeHko,1985
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#6
1.Jd4 [1.0] b4
(1... 'c4 2. 'c1 yh2 3. g1 yh1 4. ['f2 yh2
5. 'g3 [2.0] I'g3 6. Jg1X)
2. 'b1 yh2 3. I'g1 yh1 4. I'f2 yh2 5. I'g3 [2.0]
I'g3 6. Jg1X

B.Ko3bipeB, 1984

7. 7 7
. 7 7 4
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"
1. I'f5[0.5] ya2
(1... ya1 2. Je1 ya2 3. I'e6 ya3 4. Ja5X)
2.l'e6 ya3
(2... yb1 3. Jd1 Jc1 4. Jb3 Jb2 5. I'f5 yc1 6.
Jd3 [1.5] h6 7. I'g6 [1.5] {7. 'h7 Jf2=} 7... h5
8. T'ed Je2 9. Jc3 yd1 10. I'f3);
(2... ya1 3. Je1 Jb1 4. Jc3 Jb2 5. Ja5
yb1 6. I'f5 yc1 7. Je1X)
3. Jc4 h6 4. T'f7 [0.5]
[4. I'd5 h5 5. I'f7 Jb5=]
4...h55.1d5 Jb5 6. Jc3[1.0] ya4 7. I'c6
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B Akumuuk, 1972 «<64» 1 mecto
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1. a7 d5 [1.0]2. yf2 [1.0]I'b6 3. e

yg15.1g2[1.0] yg26.a8J d4
[6... h1J 7. Jg8 [1.0] yf1 8. Jf7 yg2 9.
Jg6 yf1 10. Jf5 yg2 11. Jg4 yfl 12. Je2
yg1l 13. Jf2X]

7. yf4 [1.0] h1J 8. Ja2 yh3 9. Jb3 yg2 10. Jc2

yfl 11. Jd1 yg2 12. Je2 yh3 13. Jg4 yh2 14.

Jg3X [1:0]

l'e3 4. ye3

9. Gurov V, Tournoi de composition
rapide, Netanya 1999
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h#2 2 solution

1.Tg3'!c4 2.dc I'f5X [2.5]
1.0e3Te4 2.de!c6X[2.5])

10. Christopher Jones, The
Problemist, 1992



h#3 2 solution

1.yd4 !c6 2.le4 Tb63.cb !d6X[2.5]
1.yf4Tc52.le4 'b6 3.cb Td6X[2.5])

11. Andrey Selivanov, T.T. Varsovie
2002

.Jd1! (, 2.0f6 yf4+ 3.Jf3+ [2.0])
....1d52.|e3ye3 3.Jd3+[1.0];
... d5 2. Jd4+ yd4 3. |c4+ [1.0];
... ad5 2. je5+ ye5 3. |e3+ 1.0]

12. Andrey Selivanov, Jubilee
M.Prcic-60, Orbit 2002
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s#b (10+11)

1. Jb5! (, 2.F'e3+ yc3 3. I'h6+ yd4 4. g7+ g7
5.Je5+ [2.0])

1....95 2. of3 yc3 3. eh4 yd4 4. Jc5 bc 5. of5
+ [1.5]

1...c3 2.|d2 cd 3. e3 yc3 4. e4 yd4 5. Jb6+
[1.5]



(21 Solvers)

ID|Tag|Difficulty [Average|5(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
8| + 1000| 0.00 0 0 19 2
10|H#3 952| 0.24 1 0 13
12| S#5 952| 0.24 1 0 5 15
71 + 910] 0.45 1 9 4
6 | #6 848| 0.76 2 6 10 3
51 #4 766 1.17 3 3 14 1
11|S#3 686 1.57 5 2 9
9 |H#2 666| 1.67 7 0 11
4| #3 6101 1.95 6 3 12 0
31#3 310 3.45 14 1 6 0
2| #2 190] 4.05 17 0 4 0
1| #2 96| 4.52 19 0 2 0
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